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Please make sure that the printed pages in this question paper are 16 in number
and it contains 38 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in ybur answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
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© PV AT 3 T @ g 75 ghReT wx 7 B e I 7 @ & T @ TTT g
T 7 g o aar @hare T8 Bar @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

A 3T -
() 59 5o7-99 A9 @7 : F, ‘@ T, q e T
(i) &&FH1 §20 7 1-1 &% 3 J57 & 1 & 18 Fghaweyiq, 0% 9= iy, 7
R, G/ SFGT J97 T 97 F& 19 G 20 FHT-T% SIRT 797 21
(i) &US-& 21 & 25 7% G qF TTOT JAX 2 22 6FH B 4T &
(iv) &%=-T7 26 & 31 7% Y707 FHT  3-3 FH 3 797 &
(v) &Y-§ # 32 # 35 % FH-T00T JHT % 5-5 7 & J97 &

Wi) GUEF F J57 G 36 § 38 TF JHT SFEGT SERT 4-4 G B T & JoF
FHT 77T § qalke ey 2-2 oiH 3 597 7 _ar &

(vii) & JRT a8 EiF Gve-a § 2 yeu § @7 F 2 geA 7§ -9 3 2 g7
7 3T @ue-& & 3 g9 § FaRF [T I JFET By 7 &

General Instructions :

(i) There are five Section : A, B, C, D and E in this question paper.

(ii) Section-A consists of one mark questions from 1 to 20. 1 to 18 are Multiple
Choice Questions, One Word answer, Fill in the blank, True/False and
question numbers 19 and 20 are Assertion-Reasoning based questions.

(iii) Section-B consists of Very Short Answer Type Questions of 2 marks each
from 21 to 25. -

(iv) Section-C consists of Short Answer Type Questions of 3 marks each
from 26 to 31.

(v) Section-D consists of Long Answer Type Questions of 5 marks each
from 32 to 35. '

(vi) Question Number 36 to 38 in Section-E are case study based questions of
4 marks each Internal Choice is given in each case study question of 2 marks
each.

(vii) All questions are compulsory. However provision of internal choice has
: been made in 2 questions of Section-B, 2 questions of Section-C,
2 questions of Section-D, and 3 questions of Section-E.
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U - %

SECTION - A

1. F=fafes demsl & snfttg e fe-a & 2

® i6 - ®) 3%
© Va8 - D) VoA
Which of the following numbers is an irrational number ?
A) 16 (B) 36
(C) a8 D) 64
2. B 3 3 2 Bst A e @ A Ty ? :
~ (A) sSS | (B) SSA
(C) SAS (D) ASA

Which of the following is not a criterion for congruence of triangles ?

(A) SSS (B) SSA
(C) SAS (D) ASA
3. Tl wwarg B & A% BT A © 1
(A) 30° (B) 45°
(C) 60° (D) 90°

Each angle of any equilateral triangle is :
(A) 30° _ (B) 45°
(C) 60° (D) 90°

4. Wﬁﬂﬁﬂﬁ‘ﬂﬂﬁﬂﬁMSﬁtﬁeﬂ'{1.5%%%‘532&@@%3@{@@:@?

Tl ¢
(A] 3.6 cm - : (B} 4.1 cm
(C) 3.8cm (D) 3.4 cm
P.T.O.
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o The length of the third

Two sides of a triangle are of lengths 5 cm and 1.5 cm.
side of the triangle cannot be :

(A) 3.6cm (B) 4.1cm
(C) 3.8cm (D) 3.4cm
5. ﬁ@aﬁa%mﬁw@ﬁmﬁaﬁ,aaﬁwwwm%i
(qa/379)
If diagonal of a quadrilateral bisect each other, then quadrilateral is a
parallelogram. (True/False)
6. TH N (@1 FETEA g # FHA A IR T GHT DT A G (T /37q)
Equal chords of a circle (or of congruent circles) subtend equal angles at the
centre. (True/False)
7. o Bl B o & oI SRR ¥, @ d@ Fewr © 1
(A) gHag B (B) fauwarg By
(C) wwfeaTg Brgst (D) |FHT Bt
If two sides of a triangle are equal, then it is called :
(A) Equilateral triangle (B) Scalene triangle
(C) Isosceles triangle (D) Right angled triangle
8. 9 F A F A A L 1
(A) nr2h : (B) %m,a
3 -1 4
(€) <mr (D) Zar’h

Volume of the cone is :

(A) =nrih ' ' (B) %nr“"

© Znr (D) —nr2h
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1 100-120 & & o & ¢

3 9!

(A) 100 : (B) 110°

(C) 120 ' | (D) gd & Fig Tl

The class mark of the class 100-120 is :

(A) 100 (B) 110

(C) 120 (D) None of these

10. §E S WY HE T 1

(a) T — (B)

C) 2 ) e

The smallest prime number is:

(A) Zero B) 1

(C) 2 _ i) 9

11. SRERA &2 -

ot e | 0-5 | 5-10 | 10-20 [20-25 | 25-30
sERa | 6 12 10 8 | 15

F T B g @ BT A 20-25 # GEEINT SRERA ©

(A) 6 (B) 12

C) 2 (D) T8 ¥ H3 &l

To draw a histogram to represent the following frequency distribution :
Class Interval | 0-5 | 5-10 | 10-20 | 20-25 | 25-30
Frequency 6 12 10 8 15

The adjusted frequency for class 20-25 is :

(A) 6
(€) 2

2503
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(B)
(D)

12

None of these

2503

P10,



e i) | 2503
12, x3+3x2+2 % x2 F TUH 8 | ]

(a) 1 i) 8 _
(C) 2 (D) T & B T
The coefficient of x2 in x3 + 3x2 + 2 :
O R (B) 3
c 2 | "~ (D) None of these
13. x=1W IR x*-x+ 1 F T T HIOT : 1
(A) 1 ‘ - (B) 2
€ 3 7 (D) O
Find the value of polynomial x? - x+ latx=1:
A) 1 B) 2
€ 3 . ; (D) O
14, fd H1 e e B R [ : : 1
(A) 4nR? (B) 4nRS3
4 s 2 53
(€) grrR (D) = TR

Volume of sphere whose radius is R :

(A) 4nR? ' | (B) 4nR3
(C) %‘ERS : (D) %nRs-
15. ¥ ABC & AB = AC R £B = 70°, T ZC TR ¥ : 1
(A) 40° | (B) 50°
(C) 60° (D) 70°

In AABC, AB = AC and £B = 70°, then £C is :
() 40° (B) 50°
(C) 60° (D) 70°
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16. =Y & T AARD HOW H AT -

(A) 180° (B) 240°
(C) 360° - (D) 300°

Sum of the interior angles of quadrilateral is :

(A) 180° (B) 240°
(C) 360° | (D) 300°
17. T G g B Rt R &, AT T e ]
(A)  THETHS _ (B) e
(C) @i k (D) T & H3 e
In diagonal qf a parallelogram are equal, then itis a ........ S ;
(A) Rhombus (B) Rectangle
"(C) Square (D) None of these
18. UF & qOES H 1 A ..o, 2 B

Angles in the same segment of a circle are ............... 5

19. SARFET (A): AR V2 =1.414, J/3=1.732,T J5=+/2++3.
ﬁ%(R]}WMWWE&WW@W%t
(A) (A)@T(R]ﬁﬁﬂﬂ%ﬁ?(R),(A)qﬁﬂam%{ﬁT%I
(B) (A)a?ﬂ(ﬁ)aﬁtﬂé’r%a?f?(}z),m)aﬁaﬁmqﬁ%
(©) (A) ¥@ & AfFT (R) 979 Bl

(D) (A) /@A & AfHA (R) T Bl

2503
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Assertion (A) : If V2 = 1.414, 43 =1.732, then V5 =2 +V3.
Reason (R) : Square root of positive number always exists.
(A) Both (A) and (R) are true, (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but .(R) is true.

20. ARG (A) : Rl g 1 ofar o e B @ AN @ A6 ¥, g9 W AW A B
' % (R) : [ g9 & 9=9 @« oiiar g9 & =9 el o

(A) (A) IR (R) aFf @ ¥ &R (R), (A) F T AT B

(B) (A) 8T (R) af & ¥ a9 (R), (A) ¥ &2 e T B

(C) (A) T9 ¥ R (R) o B

D) (A) o ¥ AfET (R) W By

Assertion (A) : A chord of a circle, which is twice as long as its radius, is a
diameter of the circle.

Reason (R) : The longest chord of a circle is a diameter of the circle.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both [A) and (R) are true but (R) is not correct explanation of (A).
' (C) (A) is-true but (R) is false.

(D) (A) is false but (R) is true.

g - g
SECTION - B

21. 1@12%@?%%@%%1 CH

Find five rational numbers between 1 and 2.

12503
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) 22, T AT (3+43) (3-3)

23.

24.

25.

26.

2503

Simplify : (3 ++/3)(3-+3)

HIdr
OR
1
WA HY @ (32)5
1
Simplify : (32)5
L 3 = @ s #fm
T <3 |
Rationalise the denominator of 2 o
: ofF =

103 x 107 & 99 3d i1y

Evaluate 103 x 107.

kaﬁrnmamﬁﬁquﬁ:x-—_l,ﬂx)asrgumavg%ﬂx):ithkx;@.

Find the value of k, if x— 1 is a factor of P(x), Px) = 2x% + kx + /2.

AT
OR

Tﬁ@ﬂ@ﬂﬁﬁﬁx%wmaﬁrgﬂm@gﬁaﬁﬁmf

Use the factor theorem factorize of x? — 5x + 6.

gqug -
SECTION -C

TFETE FHTT 2x2+7x+3

. Factorize : 2x%+ 7x+ 3

Download from www.MsEducationTv.com
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27.@&%@%%@3@%%3@@@%%%? o 3

28.

29,
30.

31.

2503

A hemispherical bowl has a radius of 3 cm. What would be the volume of water
it would contain.

HYqr
OR

O §F ;M GW TR S o A, AR B e 21 #ew ofR gEd o # A
24 WX B

Find the total surface area of a cone, if its slant height is 21 m and diameter of
its base is 24 m.

TIFETE HifoY 3
64x°3 - 343y3

Factorize :
64x3 - 343y3

THETT 2x+ y =7 & d9 = =0 s R 3

Find three different solutions of the equation 2x + y = 7.

k % 99§19 H0G, I x =2, y= 1 BT 2x + 3y = k H TH & 2 3

Find the value of k, if x= 2, y = 1 is a solution of the equation 2x + 3y = k.

ToHETS BT : 8x% + y + 272°% - 18xyz.
Factorize : 8x°%+ y® + 2723 - 18xyz.
37T

OR
SUGHRT TR F FET R (999)° H A S i,

- Using suitable identity, find the value of (999)2,

2503 “ -
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g -

SECTION-D

32. IR & W@ PO R RS WA g O W ufde #lh ¥ aft LPOR : ZROQ =5 : 7 %,
C o aedl B § #i 5

R Q

In fig. PQ and RS line are intersect at point O. If ZPOR : ZROQ = 5 : 7, then find
the all angles.

33. R @ fag CaﬁﬁaﬁA@T.B%ﬁﬂsﬂmﬁﬂa%%AC=BC%,?-TTWW
AC=%AB,&HWWT§Q! : 5

If a point C lies between two points A and B such that AC = BC, then prove that
AC= %AB. Explain by drawing the figure.

SICC]
OR

oy ¥ @@ XY X MN, O W gfeede wedt ¥ AR £POY=90° R a: b=2:3 F &
¢ & T FA |

2503 P.T. 0.
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_ - 2503
In fig. lines XY and MN intersect at O. If ZPOY=90°and a: b=2:3, find c.

34. T B F &=k S0 AT R gemd 40 @, 24 @ ol 32 7 2 5
| Find the area of triangle whose sides are 40 m, 24 m and 32 m.
HYdT
OR
wﬁ_ﬁu%ﬂwmwmm6aﬁaﬂrﬁé7%%i

Find the volume of a right circular cone whose radius 6 cm and height is 7 cm.

35. amisqﬁs-_@wag‘ﬁﬁ%ﬁﬁwa@é’r%%l

Show that diagonal of a rhombus perpendicular to each other.

on

g -
SECTION — E
36. a@ﬁf%@ﬁﬁmﬁmﬁnﬁ%éﬂﬁm;
i B® AT
() FEsi® (-3, -5) &R gEEEr T fag)

(i) (@) farg D % G 0 g H A R a0 A

2503
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el :
(b) mﬁﬁi@mﬂgmwx—m%wmﬁaﬁmzﬁraﬂwmﬁﬁm 2 4
Y-—6
+5
44
43

=

‘See the fig. and answer the following questions :
() The co-ordinate of B.
(i) The point identified by the co-ordinate (-3, -5).
(i) (a) Find the abscissa of point D and ordinate of point H.
OR '
(b) Find the area of rectangle formed by the line segment BD and X-axis
in fig. Y
- 16
L5
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+3

&
_-______61_______
IS
'(,ib""
|
(oo}
o
®]
—— - —ﬁ-—
o
5
B =
O ====
\
~

=

1

i

I

i

!

1

'

i

|

T

1
1y
Ui
1

'

'

1

1

!
1
l

'
'
1
|
|
1
1
L
@]

2503 Y P.T.O.

Download from www.MsEducationTv.com



' (14)
37. famm % o wdeler & el aee @ dard & Swd fear mr B AR # o
122 Ay, 22 MeX AR 120 Hex & R & oy af 5000 F0F gfq A P FAE A
R

ST T ol & T Ry B onw ¥ R ned @ Sue AR

2503

(i) SR F 9REY s #iw 1

(i) &0 @ g fafay | | 1
(i) (a) PRETER fER #@ & Fa Fdm 2
7o
(b) AR FH 1680 T HeX A%et awll UF AR P 3 WA B Rw Bw @ 3
R, T IQ e B 3 a2 2

The triangulér side walls of the 'ﬂyover have been used for advertising. The sides

of the walls are 122 m, 22 m and 120 m. Earning of Rs. 5000 per m? per year
from advertisements is.

On the basis of the above information and given figure, answer the following
questions :

(i)  Perimeter of wall is ............. :

2503
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(i) Write down the Heron's formula.
(i) (a) Area of triangular wall is ............. ’
"OR

(b) If company hired one of its walls with area 1680 m? for 3 month, then
how much rent did it pay ?

38.Wlx%ﬁﬁxﬁwwi{ﬂromﬁﬁqu@ﬁ%ﬁrﬁﬁgﬂwmaﬂ?w
digl & o Friferfee e dar far o

Ru T 4 emow 9 3 iR =i uel & SoX G

AN

feenféfat <t e -

=N W A~ N
—

(i) TR & 7EN 7 e FenfiEl @ = gar ?
(i) fq 7EW # wod ot FeniE @ oW g ?

(i) (a) T FEN & T RFHA 4 R & o= gan ?

2
aFea

(b) 7 & T & &= Y& BU BEK B Fo g ;M P 2.

3 2503 P.T.0.
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In a Particular section of IX Class, 40 students were asked about th_e rr(lio.mhs of
their birth and the following graph was prepared for the data so obtained :

Observe the bar graph given below and answer the following questions :

7

7

v o
P e

bW
i i

Number of students —»
S

—
1

Month of birth

() How many students were born in the month of Novemeber ?
(i) In which month were the maximum number of students born ?
(iii) (a) Name the month in which 4 students were born.

OR

(b) Find the total nurﬁber of students born from May to August.
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